AP Human Geography

Ms. Ramos

Gravity Model Exercise
Directions: To determinate the gravity multiply the population of a city A by the population of city B and then divide the product by the distance between the 2 cities squared.

Population 1 x Population 2

_______________________   = gravity or attraction

       Distance between the 2
Which two cities have bigger gravity or attraction?
Population:

New York City- 8,406,000 

Austin- 885,400 

Albuquerque- 556,495 

Distance:

NY to Aus- 1,742.2 mi 

Albu to Aus-694.6 mi
Calculate:

NY to Austin=

Albu to Austin=

